FE450: Game Theory

Homework 1

Due August 28th    

Please indicate the students that you worked on this homework assignment with, if any.

From the text:

1. text #1.2
a) how often to go shopping? b) Whether to go to b-school or stay at current job? c) to work part-time during school or get a loan. ( key is there is no strategic interaction between you and store/school-work/or loan provider.

2. text #1.3

a) AT&T, MCI and Sprint – choose rates for cellphone packages; b) US and Japan decide whether to protect or not their auto industry with tariffs; c) Microsoft/Netscape decide how much to invest in their new browser products. ( key is each player’s action affects the others’ payoff and vice versa.

3. text #1.21

Truthful voting second round – A wins against N but B loses to N. Truthful voting first round – A wins against B.

Strategic voting second round – A wins against N but B loses to N. Strategic voting first round – A wins against the effective alternative choice of N.

4. text #1.23

Not quite. Now, if Klein partly confesses, then Calvin is indifferent between confessing and partly confessing.

5. text #1.24

In this game, it might be sensible to expect the outcome (Partly, Partly) since if Calvin expects Klein to partly confess, then he is happy to partly confess and vice versa.
6. Are the following games Prisoner Dilemma Games? Explain. 
a) Yes a PD game: Y dominates for both and leads to an outcome that is worse for both than 

if they both chose X

       b)  No not a PD game X dominates for both, but leads to the best outcome for both

       c)  No not a PD game, this is a coordination game

7. text #2.5


[image: image1]
8. text #2.8

Player 1 has 5 strategies (0, 25, 50, 75, 100). Player 2 has 32 strategies: (AAAAA, AAAAR, AAARA, AARAA, ARAAA, RAAAA, AAARR, AARRA, ARRAA, RRAAA, RAARA, RAAAR, ARARA, RARAA, ARAAR, AARAR, RRRAA, ARRRA, RARRA, RAARR, RARAR, RRAAR, RRARA, ARARR, ARRAR, AARRR, ARRRR, RRRRA, RARRR, RRARR, RRRAR, RRRRR) where AAAAA means accept all offers, AAAAR means accept unless player 1 plays 100, etc.
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